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Find out whether there is any grammatical error in it-

(2) Alot of travel delay is caused.

(?) Due to the inefficiency and lack of good management.

(3) On behalf of the railways.

(¥) No error.

The officer who had neglected to file his income tax returns had to ......
(2) pay a fine () returnthe files  (3) give warning (¥) be rewarded

Choose the word which best expresses the meaning of the given word - Foray

(2) Contest (R) Intuition (3) Maraud " (¥) Rangeg

Select the pair which has the same relationship : WAN : COLOUR

(2) Corpulent : Weight ~ (R) Insipid : Flavour

(3) Pallid : Complexion (¥) Enigmatic : Puzzle

‘Choose the word which best expresses the meaning of the given word - Shiver.
(2) Feel - (R) Tremble (3) Move (¥) None of above.
Select the pair which has the same relationship : Pork : Pig

(2) Rooster : Chicken . (R) Mutton : Sheep

(3) Steer: Beef | (¥) Lobster : Crustacean

Pick out the best one which can complete incomplete stem correctly and
meaningfully- |

Anand stuck up a friendship with Mahesh in just two days means......

(2) Anand ﬁ‘iehdship with Mahesh came to an end recently.

(?) Anand became a friend of Mahesh in less than two days

(3) Anand's friendship with Mahesh lasted for two years.

(¥) Anand fixed a deal with Mahesh in two days. 3
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Select the pair which has the same relationship - Indigent : Wealthy

(%) Angry: Rich (R) Native : Affluent
- (3) Gauche : Graceful - (¥) Scholarly : Erudite
Exact OPPOSITE of the given word - Mortal
.(2) Immortal (?) Divine (3) Spiritual (¥) Eternal
Choose the word which best expresses the meaning of the given word - Rescue
(2) Safety (?) Command (3) Help - (¥) Defence
Exact OPPOSITE of the given word - Helpless '
(%) Fortunate (R) Cheerful ~ (3) Shapely (¥) Consistent

Select the pair which has the same relationship : GRAIN : SALT _
(%) shard : pottery () shred: wood ~ (3) blades: grass  (¥) chip: glass

Exact OPPOSITE of the given word - Mountain

* (%) Plain ~ (R) Valley (3) Precipice (¥) Plateau
Pick out the most effective word (s) from the given words to fill in the blank to
‘make the sentence meaningfully complete - The American ...... presented his
credentials to the President of India. _
(2) Ambassador- (2) Delegate - (3) Representative  (¥) Adviser
Exact OPPOSITE of the given word - Minor
(2) Big - (?) Tall SR ! Heavy (¥) Major

Select the pair which has the s same relationship - Ten : Decimal
(2) Seven : Septet () Four: Quarter (3) Two:Binary:  (¥) Five : Quince

Pick out the most effective word (s) from the given words to fill in the blank to
make the sentence meaningfully complete - When I was a child, L...... to school
everyday instead going by cycle?

" (%) have been walking (?) have walked

(3) had walked ' (¥) walked

Choose the word which best expresses the meaning of the given word - Browse.
(2) Deceive ° (R) Examine " (3) Strike (¥) Heal

Choose the word which best expresses the meaning of the given word - Garnish
(2) Adomn (R) Paint () Garner (¥) Abuse -

Pick out the most effective word (s) for the given words to fill in the blank to
make the sentence meaningfully complete. - Success in this examination depends
.«+..» hard work alone. : '

(%) on () in ' (3) at (¥) of
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Exact OPPOSITE of the given word - Artificial

(2) Red (R) Natural (3) Truthful (¥)Solid
Choose the word which best expresses the méaning of the given word - Furore
(%) Excitement  (?) Hopeful (3) Tired ~ (¥) Shout

Pick out the most effective word(s) from the given words to fill in the blank to
make the sentence meaningfully complete. - The old Nature versus ...... debate
regarding crime continues even today. '

(%) Man _ () Nurture ~ (3) Culture (%) Univerée

Exact OPPOSITE of the given word - Hostility.
(%) Courtesy () Hospitality (3) Friendliness - (¥) Relationship

Pick out the most effective word(s) from the given words to fill in the blank to
make the sentence meaningfully complete. - Man does not live by - alone.
(2) Food - (R) Meals (3) Bread (¥) Diet ,
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